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|
1. Find the product. 6/ ,-/ ) [A/.fcf) z 4

_ o
{x—-11}{x+9) 7( —-—[l 7‘ _‘7? — L;
(x=-11)}{x+9)= I / >
Answer: 2 _ oy . gg
1D: P.4.21
2. Find the product. C/{/— 6) (/,./_.6') =
{x=B)(x +6) }('L_ ’_’Lf)/( -'-%(/ —% G = %
(x-6){(x+86)= (Simplify your answer, ——————hﬁ.\ /
— z v
— o /
Answer: 2 _ a5 /\/____f? {_)
| 7
ID: P.4.31 _ _'_‘—‘—-—-—-_._,___‘__/_1‘/___
3. Multiply using the rule for the square of a binomial. ( X5 ) o
(x+5)° 6(»—% ) 6(~f5')
(x+5)% = L —
— X~ 85X T §x + L5 =
Answer: 2 4 10x + 25 /\/'L"?‘C / oX T ’ e _3
10: P.4.41

= Rl —

;4. Facto.r the trinomial, or state that. tr;e-t.r.iﬁon:ial is prime. )( "" 2)( '_'Z 5 Z\
x? - 12x - 28 @ -+ Z,) Q(-" /Y) \

Select the correct choice below and fill in any answer boxes within y/ur—ehelee.\
2

% . Chede (X)) X—17) = /
= e X" =12x-28=
() B. The polynomial is prime. ' A/l — (Y X +IX — 2 ﬁ::

7z
Answer: A, x* = 12x - 28=[ (x=14)(x + 2} | ,( —(2x—2¢ 7

ID: P.5.19 é o /( ' ’
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5. Factor the given polynomial.
X = 17x+72

Select the correct choice below and, if necessary, fill in the answer box within your choice,

A2

2~ 17x+72= (' —7D ()(’c)) ==
) B. The polynomial is prime. XL . 9 K — 8 X —,ﬂ7 2. =

Answer. A. x> = 17x+72= (x-9)(x - 8) l )(?—,___(7)( _(—’7 2_<

ID: P5.21 6“0"\3”(

i , u/’/m
6. Factor the difference of two squares.
100x% - 121y?
Select the correct choice below and fill in any answer boxes within your choice. ((—f 17) /C’ _b)

T
2/ —
LA q00x2 - 121y% = 70 ’( / 7

() B. The polynomial is prime. (/ v ) —__( // ‘7.)

Answer: A. 100x - 121y2 = (10x + 11y)(10x - 11y)

ID: P.5.43

~

Factor the expression completely or state that the polynomial is prime.

7x2 -7x- 14 7()(1____)( N &) =
Select the correct choice below and fill in any answer boxes within your choice A/)/
A 7 7x-14= 7 ()< i ()(X ?:)
(Factor completely.)

IJ
) B. The polynomial is prime. C/ - (<

7 (Cer) (K- *
7(X " —tx—+t X ~2) =

Answer. A, 75% - Tx-14= [ T(x+1)(x ~ 2} (Factor completely.)

ID: P5.73 7 ( X (s et _2) =
K —TX =
67,’ J o/

\
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8. Use factoring to solve the quadratic equation. Check b’y substitution or by using a graphing utility and identifying
x-intercepls. X/ . 5 4/ S_Y )
x* - 3x-54=0 .-(—G) e(.- Ci) - D
The solution set is E

{(Use a comma to separate answers as needed. Type repeated roots only once.) /\/ ‘7
. (&

Ak X+F6FO
Answer. - 6,9 {7&6,—6 ()"6 dK ‘9(’— ﬁ ’f 7 - 04—({—7

9. Solve the equation by factoring. ) LSS, / \'u
)( 3x 77 /oy

x?=3x+10 X A0 T 2.
The solution setis { . C — 2') g-——- Sj >

(Use a comma to separate answers as needed.)

2 =O 0Ot X—§$=o
el -2 =0T OK %*f"f‘°*>
ID: 1.5.3 |

SRl

10. Solvé tht;: equation b.y ;;.\ctorgl;g. 7 A/ -—(—2 f )( i ~ o2 , J .
9x% +21x-8=0 (3)("{‘ 7) Cx— P& o 7. / )
The solution setis { ). 3X—F f =g, O & 3{ — =

(Use a comma to separate answers as needed.)

3x£{—86=07 gna ~/+/ g/
Answer:%'_% 3(:_—_,..{ OK 3;‘

JER g d/L ’}_ ’L
G T e

Answer: 5,-2

1D:1.55

e
11. Use factoring to solve the quadratic equation. Check by substitution or by using a graphing utility and identifying ,7t\\;
x-intercepts. _7 ,L / L/ —o 0\3‘7 ~
7x% +14x=0 X 11X /l '
7x (X-£2) =9
The solution set is . . .
{Use a comma to separate answers md ) 7 x ot 0 /L X "f Z — 2

Answer: 0,-2 Z‘X_ --(/ 01@ /("'fz '__.Z’ :(_jfl—
vy T Y CZ -7 5
9L |

——_—-___—_'_'_'—-
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77— - 2o
12. Solve the equation by factoring. 77 ?7K G 7)( '_-7)( -t Z)(’—-
oo 1) 41X = 7x s x—2
The solution set is :} 0 = 79( -5 )( 2" “« 7 '_f_’ ?7;( /l \
{Use a comma to separate answers as needed.) O 7)( 1-——-/— C/ 2,)(—_ Lrﬂ =
Answer: 1,=-7

27X +6x-7)
% 00&1(716(- 17@1-77 -
ID:1.5.13 - |
X~ A) E0T ) g G (~r7—~7 o 7
"13. Solve the equation by the square root property. m ; e M
(x=4y2=1 ‘v’@’"ﬂ‘ = "L(/’

What is the solution set? X o V -

47 =47x=(Tx+2){x - 1)

—1—

X~y==f ga XN—«={
{ }- {Use a comma to separate answers as needed.)

A= 4G~ gR XS+ =/~ = h
Answer: 3, 5 3 —
@ “ LG

ID: 1.5.21 o

/ L —
/ Govef G—a/y(
14, Solve the quadratlc equation comm X _f_ ZX—‘L ( L
X +8x=20

What is the solution set?

jg)’l 20+ /5(53);”
X “rix + (Y

= 20— (%) 5
X “r¥x -+ /6 = Z,u 7‘ /6
:} {Use a comma to separate answers as needed.)
X F BT/ 6 3 4
Answer: 2,-10 (

x+cy(s(~w) «o’é ,(_,4,__

T Mgy
’G‘*L/ O XMere— =
\WJEQQ/:C W 4 “ﬂ/
ID: 1.5.47
15. Solve the . X*‘ '—‘frf—/
{Type an exact answer, using radrcals as nee

=T A 04 Ny
d

f@%@ateamo/I@
y=—(¥) tJ&) —-?//_17
ID: 1.5.65 )(hﬁirf‘[/\’_” /j

owing equaiton using th

| X% +8x+15=0
ar—

v ‘kc
ﬁ' C =/ Ze,
The solution set s

-

Answer; =3, -5

Ty 7
J("' ~[ C =

—_— T

.-'"

iﬂf3l5
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16. -
Solve for x using tﬁgh_uaﬁm The solution set is
..___ Y - { /g ype an exact answer, using radnca!s as needed. Express
[ x“=2x+37=0 ( d— 2:) ‘5’/ /V 37 omp!ex numbers in terms of /. Use a comma to separate
= N e =, =37 2.C/)

J
E(ML“‘Answer 1+6r 1-6i
X—-— —LrJeT oz,

=2—tZ

©

1D:1.5.73

)(: Z:’lﬂ —/ %7
ra

T zsgy,ﬂhzzfzoz : - 7 Nz L
_j bz s T STl &
The solution set is ‘7) ) '{ - <7/ ' &/L C/

(Type an exact answer, using radlcals as needed. Use a comma lg separate answers as needed.) X,._.___ — /()

. = —(~$)? (<] % o Z"” e
g —Anﬁwer 5 Y ({? 2({6(- ) /}d /t/ O( — Z('-s'_V)

- I— ¥
ARV e Y e =7)
1a.mmm—(i/’zx 3@(»—f—/?f"

2x% - 32x+128 =0 2(x -—/GX_,.gq) =Q
The solution set is { }- Z'G( i)(% ‘?) =
{Use a comma to separate angwers as needed.)
" }/3’ )Ce o X—F=o

Answer: 8 —-—7‘7{;/0’/7 ){ Z#J:U‘f%

—

19. In a round-robin chess tournament, each player is paired with every other piayer once. Th functi , shown below, models
the number of chegs.games, N, that must be played in a round-robin tournament with t che yers. In a round-robin
chess tournamer, 10 games were flayed. How many players entered the tournament?

2 -4 _-/O I o é‘f({ = o< €S0
N="‘§-" [ é—fg/.._y 's R (./ O 4 6 2 I g g ﬂ-—(—r—

How many players entered the tournament? | @ 0 @

[ players {Simplify y0|2|! answe
T - e

Answer: 5 /
zow:f(éﬁéﬁ

ID: 15131 Jo> T {L—C

O¢t~¢c~¢o’ -
Oz (EtYE —5)

5 of 36 — _ 6/11/2019, 7:44 AM
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: Q(—ff) / 3~y = c&pry
20. Solve the giverrfadical equa@}ﬂ;ﬁ allzapose (ol—t;trl%%s G(ff) (FlTZi _ _ij

X+ X+ VT
L SO & xfrfz»fﬂrcw 2= N Eooed

Select the correct choice below and, if necessary, ,ﬂll in the answer box to- mpwf choice.
EX+ LB XK T/6X7 T | (7,5‘("‘1)*23 =y
) A. The solution set is { O"" X _-fo/sz __f_G((l 3’(__2 5

{Use a comma to separate answers as needed.)

) B. There is no solution. 0 )( x{- /3 X.v-f-'} 6 {I
C><+ D(x+9) I
Answer: A, The solution set is { } (Use a comma to s?barat answers as nee?b :l— / /

Xt =o C)fl X T T2 '
o~

ID: 1.6.15 X#Sf_}'-'u—s/ dad. _XrS=5z
. (/ == 0(’2(}{/4

21, Evaluate the furctio X}=x" +8x -7 apthe given valu

a. f(=2) b fx+1) e {-x) <] = X
a. f(-2)=__ (Simplify your answer.) /{ ) ( 2 _(L'— f(_?) 7
b. f(x+1)-. - (Slmphfy your answer.) /-_ ) _ (—*?J (’7_) 4)7/__»2)__7
¢ f(-x)= (Simplify your answer)) %r—-l ) = (f o / 6 o 7
Answers - 19 /("‘Z) = -’/ 2‘——7 -
x2+10x+2 /(—_2) - -—-—/ 07) C//
T A o) = (X1 "fi(){ﬂ )=
ID: 2.1.29 /\/—f/j A/—f 6@(/) ~ Y7 7
YL£L)T X AL AR | A Tr~T—T

i of 36 6/11/2019, 7:44 AN
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22,

Graph the given functions, f and g, in the same rectangular
coordipale sy2tem. Then describe how the graph of g is
sélated to the grahh of f.

fix)= x

g(x)= x+4

Use the graphing tool to graph the functions.

How is the graph of f shifted to get the graph of g?

The graph of g is the graph of f shifted (1)
by units,

(1) © up
i) down

Answers

(Hup

Yrm = =
ID: 2.1.39 )(yhg)( g

Tof 36
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23.  Use the graph to determine Ay
4...
(a) open intervals on which the 2]
function is increasing, if any. ] X
(b) open intervals on which the 76543214 1234567
function is decreasing, if any. -2
{c) open intervals on which the -‘“_
function is constant, if any. e

{a) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

) A. The function is increasing on the interval(s}
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(0 B. The function is never increasing.

{b} Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

) A. The function is decreasing on the interval(s) .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

() B. The function is never decreasing.

{c) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
0 A. The function is constant on the interval(s)

{Type your answer in interval notation. Use a comma to separate answers as needed.}
() B. The function is never constant,

Answers A, The function is increasing on the interval(s) {— o0, —4),(=3, =2).

(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The function is decreasing on the interval(s) (—4, - 3),{ -2, oo}.

(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The function is never constant.

6/11/2019, 7:44 AM
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24. Y¢ (a

The graph and equation of the function f are given. M(" x f(x) = 253 + 352 —12x+ 7
a. Use the graph to find any values at which f has a relative

maximum, and use the equation to calculate the relative A } r
maximum for each value. /) b
b. Use the graph to find any values at which f has a relative WA VA 4
minimum, and use the equation to calculate the relative E ( I 0) < [,, “’(
minimum for each value, ; ) ]
[-5,5.1] by [-35,35,5)
a. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice.
) A. The function f has (a) relative maxima(maximum) at and the relative
maxima(maximum) ara{is)
(Use a comma to separate answers as needed )
) B. The function f has no relative maxima.
b. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice.
) A, The function f has (a) relative minima(minimum) at and the relative
minima(minimum) are(is)
{Use a comma to separate answers as needed )
i) B. The function f has no relative minima.
Answers A,
The function f has (a) relative maxima(maximum) at -2 and the relative maxima{maximum)
are(is) 27 ;
{Use a comma to separate answers as needed.)
A
The function f has (a) relative minima(minimum) at! 1 and the relative minima{minimum) are(is)

0 .
{Use a comma to ?arate  aNSWETS 35 n.::ﬂed.iﬂ ln C N / Co, ( P —J[-J - :}

_-___-_-_-_-_-_-_-_-_-_'_'_‘—‘—-—;_

9of 36 6/11/2019, 7:44 AM
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25. The ain of the piecewise function is (= co,00). x+5 if x< -3
Graph the ion. f(x) =
b: our graph to determine the function's range. x=5if x2 -3

a. Choose the correct graph below.
A, O B.

. (Type your answer in interval notation, t/ _/
WS¢ Gaph- 3/@ (c—lu,,“Jc, g
é—

Y, = r—-—— < =73 o4
]\ /\/’/’ ()gvvj)mvé) Circly

e()(?’..g) (éLJS(

e — - b, 4
26.
Find the diference quolieft of f that i,
_ .2
flx)=x"-9x+2

f(x + h) - f(x)
h

(Simplify your answer.)

e~

Answer: 2x+h-9 4

10 orm\/\ G e T
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27,
Use the graph of y = f(x) to graph the function Chaoose the correct graph of g below.

GEEx-4) +3. >

y = f(x) O A. 0 B.

Answer:

1D0: 2.5.21

——

28. Find the domain of the function.

fix) = /32 - 4x

What is the domain of f‘?

] (Type your answer in interval notation.)

Answer: (- co,8) /‘(X) ~ W
Ak 3L >
.ID: 2.6.23 /Z‘,[__ ¥y ,___}{L_?/o_l__;_ y o
—¥X = =3 Lok b
— ¥ < ~3L Lt AL “ "
._; =I5 N s A
Gl foihor &7 dm

Il af 36

6/11:2019, 7:44 AM
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9. f
First find f+ g, f-g, fg and 5 Then determine the domain for each function.

f{x) =4x? - 43x + 63, g(x)=x-9

Simplify your answer.
What is the domain of f : " )(?XL— YIXTCD) T ﬂ("T)—‘
g nyt—afsz—fcs—f)(.-—?'zw/

O [0,00) —_— -
O (-®.m) Yyl —G¢ax+s9=z )

- [;m] Q (LJML.;] (—-9\1 22) >

i G L ) I -

(f+9)(0)=

(f-g)x) = (Simplify your answer.) 74(] — 9¢%) < .
What is the domain of f- g? (V){L"“((}l(""ézj - (X—'?) =
O (- c/,/z—-qjx—fé_sf-)(-f?? 4

" (5] SLIACRAESEIAD,

O 63 63
[~ 5o

O e - | @M“(__ﬁcj/ //WJ) .

{fa)(x) =

What is the domain of fg? @ o jp?/ T /

. Sx 2 a3 )(X-5) =

) {=0,9)U(8,00) (f )(3 r "’/L )'—/L) ‘// o

7 (el = K= 3 BT G sp gy

= A7

O 18 18
it}

12 of 36

[E](x)=|:](8implify your answer.) ’@ -

What is the domain of—;-? x L—Q},( 6%
O (-o0,00) X—T

O @)

O (- 0.9)U(@.0) (%( —7) Qf— ‘]?)

O [0,00)

6/11/2019, 7:44.AM
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Answers 442 _ 49y + 54
(= 00,00)
4x% - 44x +72
{=o0,00)
4x3 -~ 79x% + 450x - 567
{= 00,00)
4x=7
{ — 00,98, c0)

ID: 2.6.35

30. Fér f(x) = Sxahd@(x) = x + 16id the following functions. T

a, {fo g)(x); b. (g o )(x); c. {f o g}{3); d. (g o {3}
a. (fog)(x)=| " (1[0 5)5d) -
(Simplify your answer.) -
” ( 5&))
b. (g o f)}{x) = / ~
(Simplify your answer.) / ( {'16 { ) &
. (fog)(3)= S(xer )z |
d.(go @)= ' UJ
Answers 5x+5 Gd —F) ({(} <
S5x+1 j( {54) =
o S
(50| - S

ID: 2.6.51

09} = 5%+ 5=
s)(3) T SU3)ry
Fo -

T

g0 #)(9/” (/)

- (fo 0(%)1{//)

13 of 36 ——— 6112019, 7:44 AM
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31, For f(x)=x+ 3 and g(x) = 3x + 5, find the following functions, = 75{} <

a. (fo g)(x); b. (g o A){x); c. (fe g}{1); d. (g o (1) 7[(3270%)7_2
<
a. (fog)(®) =| (Simplify your answer.} éx s ) <3 =

b. (g o f(x) = | (Simplify your answ It s% =

XD = ]
altead=_____ ,601() ) T “ Q(J-F) (74): 3%7‘/7/
d@enm=_ J(f) = {?d%)({) z 3(D+FY
Answers 3x+8 j( )("fj) - O (l) = B’f/%
3x+ 14 3(x+3) A5~ @d .
1 3)(49’*?/ C))L)(O’Cl7
: v
_1D:26.53 - P S
32. Forf(x)=4-xand g(x) =4x> +x + 5, find the following functions. (;/0 j)M by -——/%(&L—;(—— / )
a. (fo g)(x); b. (g 0 H(x); c. (fo g)(2); d. (g 0 H(2) 4 2)z =Y(2) —(2)~
N s J
:‘éirg;;ig)(;;;r.answer) . ;(oj) ))‘ " Afj} ( ? ) - -(/(Z ) (Z) ’—- /?)’/

' . ' j@ - a - — *’Z""/
Aol P LR () L
c. {fog)2)= ] ¥~ (Cﬁ(llﬂfx-ff) ) 09)(2): _-‘/ q‘ -

G KX T
d. (gof2)= ] fga X Y bl

o o7 (T o0t )= AL33~+73
o ;3"“73 §( 1) (G0t )2y = H0)* —33(2)~+7 3
S Kl (50L0)~ S —33 /773

Ot (O ,
2 q:(?;_(:)?c)/,,()_f (055§ dll)(?)i /6 —66T17 3

b.2sgs N 76-7A~9X+x) T (- X0t "@00[2): zzé/

G ?({(,.-—‘5;{;&;{3) + (%= x) s
6 —23UK TY¥x S FY X Fy =

Cox™= =334 +73°)

14 of 36 6/11/2019, 7:44 AM
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IR : o
33. Find t@stawe pair of points. )‘/' / YI L/ d. J / 6 7C 5

@nand@s) - U’(,(,——x}) 7‘/7(”7L)L

The distance between the points is units,
(Round to two decumal places as needed.) _ _/ QD(/
i
~(/ (&) ~(7)= (1] =(5)

Answer: 5

- (/_6/‘"?9 Et- (f—»v)’L/
S U gt gt -

i : d¥the line segment with the gr@n end;ionn;; (‘ ( )
(6.8) and (4.10) A < ( X174, V/f”ﬁﬁ) 6 X) 4{0
The midpoint of the segmentis / l 24..—

(Type an ordered pair.)

Answer: (5.9 Jiq A T / Z @ ﬁ (E ) )
ID: 2.8.19 /

M - (W 7L

J - [¥
//1/:{_; /_ ;[3/ -/

\

15 of 36 6/11/2019, 7:44 AM
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e e o

35, i o
L:Ccimplete the squar;_h_'nd write the equation of the circle in > ¥
~ Then determine the centerand radius of the 10

circle to graph the equation.

8
x2+y2+8x+4y+19=0 6
s 12 = =9 :
X 4 + y“+Y AT a
The equation in standard forr is o ik
(Simplify your answer.) 2

B

—
o —
-
-
=

Use the graphing tool to graph the circle. e T i B
(B (HD) ey 07 (39 = 12e (107 J@JL

)(111‘ 5%—%(5‘)27‘7&#—((7 + )%= 15—l (2) © i
KHPA/6+98 sy 2y = ~f5rfity =
(X""‘V()(—F‘/) + Y+ (y~+1) < — a2

st | 4
OGS 9~ =1 Dy Coser = g0y
S

) Kooty

6

10

L=

4

21

[ S RN T SRS SN BN BEE S N | AN S S S S SN S R S R

ID: 2.8.53

\

x
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36. In the following exercise, find the coordinates of the vertex for{he parabola def ned by ttie given quadratic function.

VC'/I:?"( s _(C /
f(x) 4x +16x+10 Z.(C/) (LZ(‘//

C-r=
The veﬂex 15 / . {Type an ordered pair.)

V’// ~ (—/C l_é//

ID: 3.1.13 V/‘/b( ( ~Z, 7'(“‘3) ‘f'/¢(2)7l-/u)
2% Lo (= 7} Y2 (1) /(2 )7/>)

37. Find the coordinates of the vertex for the parabola deflined by the given quadratic function. =

f(x)= =x? +8x+10

A—(—L=57 C=/O
The vertex is{ / b i/ (Type an ordered pair.}

Answer: (4,26) (/P / -L/ X “—'-é' /[

D: 3.1.15 l/"/Lf - /_ ) / /?)
(- 2e1)

V‘V-’-’se 2 (2F /(‘ﬁ))
;/(cf'))

—-/s/) Pl ) ~Fro)
~( ) ) o)
/GﬂP§2770)
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38.
Use the vertex and intercepts to sketch the graph of the ¥
quadratic function. Give the equation of the parabola’s axis 10
of symmetry. Use the graph to determine the domain and g
range of the function.
B

fx) = (x+ 3)° — 4

L8

F
T S E—— |

Use the graphing tool {o graph the function. Use the vertex
and one of the intercepts when drawing the graph.

The axis of symmetry is | . do B B 4 2
{Type an equation. Simplify your answer.) -2
The domain of the function is | .
{Type your answer in interval notation.)
The range of the function is . -
{Type your answer |n interval notation.)

@ 5/apa., Cefel /r,

Answers ¥
10

L B

10

o
+umy
o=
oo

to)s) Jratrepn S

1(-4,9) yembent e

4 6 & 10

XA aleogt C-5 /9) .

A0 8

x=-3
(= o0,0)

[-4,00)

ID: 3.1.17
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39.
Use the vertex and intercepts to sketch the graph of the

quadratic function. Give the equation of the parabola's axis
of symmetry. Use the graph to determine the function's
domain and range.

flx) = x° -2x-3

Use the graphing tool to graph the equation. Use the vertex
and one of the intercepts when drawing the graph.,

The axis of symmetry is l .

(Type an equation.)

The domain of fis [

(Type your answer in interval notation.)

The range of fis |

{Type your answer in interval notation.)

@’"j’iﬁfc,ﬂ\ Cc C‘_(QL/;

Answers

{atr\bm

(—00,)

{-4.00)

ID: 3.1.27
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40,
Use the vertex and intercepts to sketch the graph of the Ay
quadratic function. Give the equation of the parabola's axis 104
of symmetry. Use the graph to determine the domain and 3l
range of the function. |
Hxy=4dx-x2 +86 &
4
Use the graphing tool to graph the equation. Use the vertex 2;
and one of the intercepts to draw the graph. .
The axis of symmetry is ; R A T S NN SRS B SN SR g
{Type an equation.) 21
The domain of the function is I _4.-
(Type your answer in interval notation.) 1
-6+
The range of the function is 4
(Type your answer in in

ID: 3.1.31
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[, -~ ( ~b (,_ 2 )
41 Consider the function f(x) = -2x% +8x-3. /}7 4 )( = e - 2 e )
N S b= C=—2 N _ ~—,
a. Determine, without graphing, whe het the function has a minimum value or & maximum value!

b. Find the minimum or maximum value and determine where it occurs.
c. Identify the function's domain and its range. y /1, ~ ﬁ —{ z)

2@1 p) 21D

a. The functionhasa (1) value. /
@ Verls < '7 fEL )
b. The minimum/maximum value is . It occurs at x -

| j“ (D)
¢. The domain of fis I {Type your answer in |nlerval otation ’[
e, = (2, —2(2)=t¥)=3)

The rangs of fis l—_? (Type youlr/answer ) interval nolation. ) )
? . ) —t¥o—75
(1) O maximum l/ e = (Z 2 () (

) minimum l/’a/L“Q /(2’ __2(,7;,/% .._-3)

Answers (1) maximu

= @ A Z'J’Ej\N/

42, Divide usingGint_r_i_etic divisij. -
AN I Ty

l3)(3-{-5)<2_9,,:+2) +(x=7) 5 ji__ _S“& - B
T W m— N

(Simplify your answers. Do not factor. Use integers or fractions for any numbgrs in the ex%ressions‘.‘/ e v [//
Answers 2 | 1oy + 75 \/ Vs
527
iD: 3.3.21
. NE—— TR L N SR T

(a 7 574444& _

43 solve the equahor‘x -5x% +2x+8=0 given that - 1 is a zero of f(x) = X -5x2 4 — o Lv iy

The solution set is {: (Use a comma to separate answers as/heeded.)

1 lzot L N0y
Answer. - 14,2 ri) l " ; :

| \
ID ?.3.43 B 1
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44, The following function is given,

f(x) = 7x° ~ 5x° - 63x + 45

a. List all rational zeros that are possible according to the Rationa! Zero Theorem. Choose the correct answer below.

O A. :117:11—11 1111Z:L17 1¢l ﬂ) 9‘[4/
EhEg gty ittty il 45'* 45 {9,/_’__
O B. :1171111t1 ! -1-1111 ! 1—1 tl =7 o
T AT Y 6' 6' 5 5_ 15' 15' 45'7 45
C/E 111319151151451-1-13 giitﬁtﬁ
7' r 2y A R 4

1 3
O D. £1,+3,£6,+5,+15,+45, E kot

b. Use synthetic division to test several possible rational zeros in order to identify one actual zero. ¥

One rational zere of the given function is
(Simpfify your answer.)

¢. Use the zero from part {b) to find all the zeros of the polynomial function.

The zeros of the function f(x) = 7x3 = 5x2 -B63x+45are , W —
(Simplify your answer. Type an integer or a fraction. Use a comma to separate an as needed.)

Answersc 143,49 : 1 3 9 b5
+1,£3, % 151514517t717:7,
5
: 5y 7 5
2a-3
7!! L‘

iD: 3.4.11 7 / (

6/11/2009, 7:44 AM
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45. The following equation is given.

[ ©-2x-9x+18=0

a. List all rational roots that are possible according to the Rational Zero Theorem.

(Use a comma to separate answers as needed.}

b. Use synthetic division to test several possible rational roots in order to identify one actual root.

One rational root of the given equation is
{Simplify your answer.)

¢. Use the root from part (b.) and solve the equation.

The solution set ofx -2x -9x+18=0is {:}

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any numbers in the
expression. Use a comma to separate answers as needed.)

Answers 1,-1,3,-3,18,-18,2,-26 -653 = 9

23,-3

ID: 3.4.17

~/
l/f -L’ -‘f @/’q
S/Lv‘J(-ﬂ cC = O
(K ~)(x+3)=2

—L -0 04 J43=0
;(Z,/rz, — 01T On

23 0f 36 wm
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46. An incomplete graph of the polynomial function f(x) = - x> +3x% +13x - 15 is

shown on the right. r
— r

a. Find all zeros of the function). , ) , F
b. Without using a graphing utility, draw a complete graph of the function. \/E
1

5,0, 7| by [-30, 35, 5]

a. The zeros are X
(Use a comma to separate answers as needed.)

B =
b. Choose th of the function below. The scale for each graph js[- 1my (:60. 65,5]. /

O B. O c. %D, TG

Ty, T N L A \ ﬁif’) :

e ._,(c_j‘ i ! TR /l ”’ S— .
_C_{jxnmfsaf;@?f 3 T A (D e [

ID; 3.4.53

———

47. Find th& vertical asymptotes if any, and the values of x corresponding to holes, if any, of the graph
-y
x+3 LA KCM )=o <
9 (Z3> ot A= =o

h{x) =

comma to separate answers as needed.) /"G +6G 07 6

O A. There are no vertical asymptotes but there is(are) hole(s) corresponding to
() B. The vertical asymptote(s) is(are) . There are no holes.

O €. The vertical asymptote(s) is(are) and hole(s) correspo gin to

() D. There are no discontinuities.

Answer: B. The vertical asymptote(s) is(are)| x=86,x=0 | There are no holes.

ID: 3.5.23

v\_///’—_ ™
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———

48. Find @:al asymptote . if any, and the values of x corresponding to holes, if any, of the graph of the rational function,

f(x)=-—-i = X~ = L(L(__Cl — 1 g/im/////a'/s,»f-
x? - 10x + 24 @__(_f,%._g) @’9) 23 /(’_c{

Select the correct choice below and, if necessary, fill in the answer box(es) to complete your choice. (Type an integer or a
fraction. Use a comma to separate answers as needed.)
by O

[/'P/(JC(57W "'(/"f'y

) A. Hole(s) at x= X A

O B. vertical asymptote(s) at x = and hole(s) at x= .
() €. Vertical asymptote(s) at x = Vp/#( 2 _/f G S/ — A/ b L/
(0 D. There are no discontinuities. E e
A (JZ/( t.'f-"..-/ A — (- R
Answer; B. Vertical asymptote(s) at x= 4 and hole(s) at x = 6
ID: 3.5.33

49, Find thq:ﬁ_gnzontal asymptot oté, if any, of the graph of She rational function. """}(
5x /) /5K 't /L X5 —_—
2 — L =7 L =

we+7 XKool 3¢ 7 ;/L/L —> 3( +~7 X= o

Select the correct choice below and, if necessary, fill in the answer box to complete your choice,

f(x)=

) A. The horizontal asymptote is . (Type an equation.)
) B. Thereis no ho rizgatal asympjote.
//n
Answer: A. The horizontal asxmgtote is __y=0 0 . {Type an equation.}

Yy, ’
ID: 3.5.37 X‘“>4ﬂ /’7 Q_’)

50. Find the-Rorizontal asymptote\lf any, of the graph of the fational function,

. /5L
Ny e e
4x° +9 —

X— o a Xt 50 L_—f q X~ Xt
Select the correct choice below and, if necessary, fi II in the answer box to complete your chonce

- /2

g()=

i) A. The horizontal asymptote is . (Type an equation.} .
. . <O
") B, There is no horizontal asymptote. / 7

Answer: A. The horizontal asymptote is | . (Type an equation.) ,(/

25 0f 36
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51. a. Find the slant asymptote.of the graph of the rational function and b. Use the slant asymptoteto graph the ratlo\hl
function. —_ | L/
- 3 ~ L
o x?-x=2 \ > G /
/ X) = ————
/ - 2 )
SR P [ = (& ren

a. Find the slant asymptote of the graph of {. Select the ice below and fill in any answer boxes within your
choice, ==

A y=

f'l-\.‘_l,/q g /-'f‘;’ X/
</ 4 g

B. There is no slant asymptote.

b. Use the slant asymptote to graph the rational function. %

O—3
First determine the symmetry of the graph of f.
Y Ty grap B O —0U— ra
- - n"'--_-—-_-——
(O A. The graph has y-axis symmetry: f{ = x) = f(x). o — 3

() B. The graph has origin symmetry: f{ = x} = = f(x). — ..—’L

() €. The graph has both y-axis and origin symmetry.

(O D. The graph has neither y-axis nor origin symmetry :7<\- 3
. — &

Find the y-intercept{s). Select the correct choice below ard fill in an swer boxes within you

) A. The y-intercept is . { —~ /" Lo en? + / ‘ef y =0
(Type an integer or a simplified fraction. Use a comma to separate answers asileeded )
(") B. There is no y-intercept. q

Find the x-intercept(s). Select the correct choice below and fill in any 'answer boxes within your choice.

O A. The x-intercept is . O()("’S ) = { ( X '(’L')

(Type an integer or a simplified fraction. Use a comma to separate answers as needed. )

(") B. There is no x-intercept. O X )( -7
Find the vertical asymptote(s). Select the correct chaice below and fill in any answer boxes within you>chonce

O A. x= O:g—f'(/h( l

{Type an integer or a simplified fraction. Use a comma to separate answer &s needf-zd.))é_dZ =0
(O B. There is no vertical asymptote. )(—f ( —)

orrect choice below and fill in any answer boxes within your choice.

/‘/Hﬁfﬁ;n%>/_./!0).(zd) XA~ =2~ JA /(/Z—fZ"dﬁ‘L

{Type an integer or a simplified fraction. U to separatce}asﬁers as negd
There is no horizonta I_as‘ympfole“} ( )( £ — / )
Plot pomts between and beyond each x-lntercemmymptote mm  graph the

rational function. Choose the correct graph below. v } ¢ ‘50, ¢ / 5 C o | SRR,

) A,

6/11/2019, 7:44 AM
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Answers A. y= ' x+2

D. The graph has neither y-axis nor arigin symmetry.

2

A. The y-intercept is 3

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

A. The x-intercept is -1,2 ;
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

A x= 3 {Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

B. There is no horizontal asymptote.

ID: 3.5.85

270f 36 6/11/2019, 7:44 AM
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52. Graph the given function by making a table of coordinates.

f(x) = 4™
Complete the table of coordinates.
X -2 -1 0 1 2
y

{Type integers or fractions. Simplify your answers.)

orrect graph below.

Answers 1
16
v
- £

~

5

ID: 4.1.11

28 of 36 6/11/2019, 7:44 AM
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53.  The graph of an exponential function is
given. Select the function for the graph.

Identify the function. - /

1A, f(x)=4"'1 ) B. f(x)=4¥_1 “ D. f(x)=-4_x
=2 [ - ~f L /=1

ANSWET: ¢ _f(y) = - 4* ____d_,l—élf‘%\“ /(,—’(’): ~f - Z 2 ; ;/_Z B ’ gy G
N ID:4.1.23 _ _3;// -//q?: e 4P Cot”
— . s [!)’1 ~ Cf"-_ oM

b B

54. Find the domain of the logarithmic function.

— e

fx)=log(3-x)
The domain of f(x) = log (3 —x) is | 2 X
(Type your answer in interval notation.) WA / %X? ~ [U ) /4)(
Answer: (- 00,3) l,{_;" 4)(’1&g >O
dn
ID: 4.2.77 —
A — o —_— Ee —f _3 P _’___:‘__._-__—_"_‘:___:_._

-

~ > ,
55. Use properties of logarithms ﬁ.n;nandillg_logj_;uhr’rmlc pression as much a5 passible. Evaluate logarithmic expressions
without using a calculator if possibleé =

log [xa_y] ?é (X_gjf— i (f) -
: i /oj/o (X'B‘ﬂj T Cojé (€)= (2(9 e
logb[%]#—] [0513 ()(3)—-}' [/C'j [9) o CU)Z;

T, B, [9) — 4, ()

e

:\: éjb(»é):/%é@?/’éﬁé'/ﬁ)
| Loy, $AR) = Cos A= Cozy (1)
\, [_g%(/f@: A (’”55/’4)

ID: 4.3.27

e .
6/11/2019, 7:44 AN
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56. Use properties of logarithms to expand the logarithmic expressuon as much as possmle Evaluate logarithmic expressions

without us:ng:calculalor if po 3|bl(/§ 7‘6/ &4 ()(7‘() 0
[(JT] ,cﬁ(x )t Ua%E /‘H(X%O“—
o], A5t S o) T M ()= o
cigfwr%fovo-—zaoaﬁﬁ“\

2In x+—|np< +6) -3In(x+6)
L 7. 7 ﬂ]\ W/’?‘m
ID:4.337ﬁ & 4 /Zﬂ( /ﬁm %_1@4 m —

= ——

(x+6)3

Answer:

57. Solve the following exponential equation by expressm each snde as a power of the same base and then equating

exponents. ( Z) X—-f—? (BC( _2>< TV
V)(——5 C

gx+7=a1x-9 ZX—f{"—(

The solution set is { } /

Answer: 25 2/)(7‘%’-(}/" (,4( 36"/54 x
2x < ¥x —57 /
X~ X = S XV $4.a<

58. Solve the following exponential equation by taking the natural logarithm on both sides. Express the solution in terms of
natural logarithms. Then, use a calculator to obtain a decimal ag:?ximation for the solution.

3¢ =1734 if.’,} . = L%j—f
What is the solution in terms of natural logarithms? 3 )(
I

The solution set is :}

{Use a comma to separate answers as needed. Simplify your answer Use mtegers or fractions for any numbers in the

— Gl (57D

What is the decimal approximation for the solution? e

The soluionsetis { '} 57(/&1(6/: ﬁ‘ (f? ]7)

(Use a comma to separate answers as needed. Round to two decimal places as needed.) V(
n

Answers In 578 }77((0 - _ﬁ"ﬁl /f7J7/

ID: 4.4.18

e

: - _L/e7p

%,ﬁ/ﬁzf_

2.12

ID: 4.4.31

—

T T
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59. Solve the exponential equation. Express the solution in terms of natural logarithms. Then use a calculator to obtain a

decimal approximation for the solution. _/4(/'1 (7 ’(’fy é\_ﬂ ()9 & /

7+2) = 385

» >
What is the solution in terms of natural logarithms? (/("f' ) /g'\ ( 7 ) ’é‘\ ( f fG)
The solutionsetis { . Q("f Z,)/L"-C ) —*“Q "

(Use a comma to separate answers as needed. Simplify your an

/72e integers or fractions for any numbers in the
expression.) (4

What is the decimal approximation for the solution? ’(’ z

&Y,
The sclution set is :} 9("(’ /{ / &Li L-

{Use a comma to separate answers as needed. Round to two deCIma‘T:-I'ge s)als needed.)

= S (26D 5 |
Answers Irlln336 > )( /é‘r’ (7 ) i .l./

1.06 @V; /‘ 66&699‘} r'&h.\ O\V”)V\/

- ID: 4.4.37 OW ﬁ?> /?(7 (4‘-1//

60. Solve the following logarithmic equation, Be sure to reject any value of x that is not in the domain of the original logarithmic
expression. Give the exact answer,

G
Iogz(xgg;ﬂi f(w’f”/f 2 = /(’€ 2 3

Select the correct choice below and. if necessary, fill in the answer box to complete your choice,
2.2 220 L= X2 3

) A. The solution set is { } (Type an integer or a simplified fraction.)
i) B. There is no solution. 6 ¥ = )(—-F 25 3/ P
Gy —3 =X+23—T3

Answer: A, The solution setis . {Type an inte ction.) {/
"‘/ % v
ID: 4.4.55

61. Solve the logarithmic equation. Be sure to reject any )alue of x thatis n in the domain of the original logarithmic

expressions. Give an exact answer. é‘a ( A [[ ¥ - /) - éoj ( ‘) + C j ({ ] (,_[)._-.]) /
/z’* X(/l X~1) .____IE Gapp

Select the comrect choice below and, if necessary fill in the answer b : x o comple e your chmce (M ’ /
/2~ (1xt—x b )- ) -

() A, The solution set is {__ } (Type an exact answer in sgéﬁ'ed form )

~

() B.

There is no solution. d - l ’ }( "‘)( "‘/ L
0= (A= (Z)@H)
. 12 .

Answer: A. The solution set is

log 15+ log 15(11x =1} =1

ID: 4.4.67 X~ AL T9T/L

31 of 36— H———A
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Chuty

62. Solve the logarithmic equation. Be sure to reject any value of x that is not in t e damain of the original logarithmic

expressions. Give the exact answeré CK S )(,(__./) = _S éoj ( 2~ 5)7‘(0& (5'/) =4
st S G0 )t (10 =€
27

Select the correct choice below and if necessiry fill in the answer box to fcomplel)/%ur choice, 6 A’ p
3 2_ X X—5xX + 5§
() A. The solution set is { 372 F )( —‘—6 Xy (
{Simplify your answer. Use a comma to separate answers as ne7ded )é‘:’j (q —5 )’f CU ) ?’—

() B. There is no solution. ""Gw( -+ 5 _'3 -
OO >;<‘—-6 x—27 Cay, (4)-tCos, (X) T

Answer: A. The solution set is { 9 ;. O“U(LJ iy Cﬂ
(Simplify your answer, Use a comma to separate answers a needed) ST St —
0= K +3 )K= 7 ? &
ID: 4.4.69 X1 5 =0 o B :

63. Solve the logarithmic equation. Be sure o refen any value 0 sl in the domain of the original logarithmic

expressions. Give the exact answer. 407 {':t 2— 2 £ )(_)( —~ )( —f‘/f/ V“'
log 5(x+19) - log 5(x - 5)=2 s -5 > 2/(//( /g/(/

Select the correct choice below and, if necessary, fill in the answer box to ,complete your choice.

~ < < v -—ai‘/—/i |' _,_4 ”L_L
) A. The solution set is { } . /
{Simplify your answer. Use a comma to separate answers as negd e

) B. There is no solution. 2 =, )( f eﬂ\ @&f

Answer: A, The solution set is { } 2 g’()(—-—s-) — f ()("/'/7 l !
{Simplify your answer. Use a comma to separate answers as needed.) K( ’

2sx — [ty = X/9 (;O
ID: 4.4.71 2/&7('—{ :’—rﬁ? = X7 /‘)'f"ﬂﬁ, ‘)( G~
44 = , C )R
s GAT)— éu [

T o [
64. Solve the logarithmic equation. Be sure to reject any value of x that is not in the domain of/‘e original logarithmic

expressions. Give the exact answer. é ‘} C)("f/?.) - éc_,j 6() (/7_,) C/\{{{é

log(x+12)= log x+ log 12 LU ()(’f[d Cuj(fz)c)

Select the correct choice below and, if necessary fill in the answer box to complete your choice. a M 5}\4,/ /
X<~ (1X

) A. The solution setis{ } /( /’L//I/ (74 — 1l

(Simplify your answer. Use a comma to separate answers as needed.)

() B. There is no solution. )( -~ [T A —~ L
. —tx = | LA=/{ —1 LX
Answer: A. The solution set is -:-;'2- . .—_.[ { X —‘( L
(Simplify your answer. Use a comma to se;fr;:;i?nswers fsyneed Z‘/) ( [l L ) ( o

ID: 4.4.77
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65. Solve the logarithmic equation. Be sure to reject any value of x that is not in the domain of the original logarithmic

expressions. Give the exact answer. é) ﬁ()()( ~7) _(,‘rj 4 i
log x+ log(x+7)= log 8 J(()('f?) -

Select the correct choice below and, if nece){sa;(?ll (’r—the answer box to complete your choice.

) A. The solution set is { : "‘( ) Qer;:z’z . d-e-d‘.):) d /0}[4,( -

(Simplify your answer. Use a ?mma to separate an e
() B. There is no solution. v ::('._ ) 0 ﬂ )(rr-f'-if_-_‘(i } 1 \
Answer: A. The solution set is 1 EX” / :‘ 0 X" ~ > e
(Simplify your answer. Use a comma rate answe e
Lo (~§)+Cus (477 = €025 Py (104 Los (1= (5 (D

D 4487 SAD #AD :
66. ' Complete the table for a savings account subject @mpounégszeaﬂy JZ, ( [ 72 Y {3 ?l‘} /glﬂ f f)
|:A=P[1+L\m] Zsooe= [¥50s (I'F L /ﬁ({ 721375) = V€ (1,9r5)

J

Amounted ]Number of Annual Interest | Accumulated rl'ime t
Invested Compounding Periods Rate \ Amount in Years
$14,500 4 6% $25,000 ?

Let A represent the accumulated amount, P the amount invested, n the num el of compounding periods, r the ann

interest rate, and t the time. Find the time, t. o (/+ g/ f) ( 721 37‘T) & 4/¢\V/J ars/

S E—TY Ll A (b (107D m(/,m))

(Do not round until the final answer. Then round to one decimal plaeezs e
— ¥,
U =

Answer: 9.1 250U go( [ /f)
Frroo QLL

D:44107 [, 72 /[ 374{‘3/ T //O/f

= =
67. Complete the table for a savings account subject to continuous compounding. T
d T
(A=pem) 13000 = 500 &
Amount Invested Annual Interest Rate Accumulated Amount Time tin years
36500 9% $13,000 ?

Let A represent the accumulated a?mount P the amgunt mveste% E}t e annual interest rate, and t the time. Find the time, t.
g~

.._—-_' ey
t~l years G SO 65- !

{Round to one decimal place as neede&);- é

Answer: 7.7 ./Z—r{z,)"“ é

()= 05
ID: 4.4.111 /6'7[2} 06 € [{/

/ZM/L) cOCI'C
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88.  An artifact originally ha 16 grams ‘'of cartion- 14 present. The decay moda| A= " describes the amount of
carbon-14 present after s, Use the modél to determine how many grams ot tarbon=1% will be present in 6631 years.

16 ¢ -0.000121t

o

The amount ©f carbon- 14\}esen in 6631 years will be approximately[ lgrams.

{Round to the neafEer le number) ] _
)iyl (—0. ooozzr(acﬂl)f/

4= e |“] 3831

U\ iy
69. Prehistoric cave paintings were discovered in a cave in France. The paint contained 19% of the original carbon-14. Use
-0.0001211_ to estimate the age of the pai_ntin_ggﬂ.) ool G

,.
&

) =
The paintings are approximately i years old. {(Round to the nearest integer.)
/7 ~/uueo T 0.0l <L J/g\([q) _J(),OCIL-’(7(-G/‘£"‘///
,q).— —0. 001 éﬂ/ QL'

Answer: 7

1D: 4.5.15

the exponential decay model for carbon-14, A=Aq ¢

Answer: 13,725 — = _jw
- ’“’%oo ruf’ﬂ 4) o —0,dvs (21 £
> = O, VYI =
ID: 4.5.19 efq < ! =5 ao(L o, o]

In2 Y
Use the formula t= T that gives the time for a population, with a growth rate K, {o double

o answer the following

guestions.,

The growth model =3¢ 0.008! 4ascribes the population, A, of a country in millions, t years after 2003,

a. What is the country's growth rate?
|%

b. How long will it take the country to double its population?

| lyears (Round to the nearest whole number.)
0, 00 7¢ —
e /@ ) go §-€
Answers 0.8 G = 36 / Z Q___________

- L fL | -
87 - €O | m 0.0 8‘//

ID: 4.5.35 5 %- ) CY'CIZ V}Zﬁ' /?)

0. 09 7%

2z C LOu Y.
AR e’ 1 @M/(L//
(1) & 0.0dfé%f%] 77 =
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71. Solve the given system of equations, g
Z Y ) . [ , RO Qo | L
x+y+3z=-5 - l
— L 7

X+y+5z2=-3
X—2y+7z= 14 I

Select the correct choice below and fill in any answer boxes within your ?ou:e / m j) o La
2~y M aJr/y /47,\-_ yv= —

() A. There is one solution. The solution set is

{( i . )} (Simplify your answers.)
() B. There are infinitely many solutions. /[ @ ) < L?
() €. There is no solution, }/ v d f

Answer: A,
There is one solution. The solution setis {{ = . -5 i 1 ) }- (Simplify your
answers.) ) j
ID: 5.2.5 ( / ‘ '
- . — -
72. Write the first four terms of the sequence whose general term is given. 2 3 l// T
_ 2n a Z[‘} - =
a, = n+2 I l’f, L Z
a,= ' (Simplify your answer.)
—— Gy < 2~ -
a,= {Simplify your answer.) L 2t L
a;= {Simplify your answer.)

(3)

a4 = | (Simplify your answer.) a 5 =
’!”L

A 2
NSWers 2 Z Kf')

a\/:/(}':;_z:

-

wls oo

1D:B.1.9

350f36 6/11/2019, 7:44 AM
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4
> kk+2)
k=1

73.
Find the indicated sum.

\ ;
Z kik+2)= ! (Simplify your answer.)
< (1)1 L(ert) + 3(370) T S ¥re) -

Answer: 50 /(3)’7‘2("’) T}(S‘)'f(/(ﬁ

(s VY
ID: 8.1.33 S8 7 ‘-//vl

7 se the binomial theorem to ex anéthegnomla ot
v " C((;}/?L—(S:M(Pdfr C(ra()('?) + C/IV'-

(5x - 2)°
eI am{ ) (5 CO+ () e (5 ()=
| )(7?'3 9(// —f-fyfz (fx‘/KZ/ ) &)%) + (1) (1) (—8)=
Y /

Answer: 125x /50)(2 +6 8

ID: 8.5.13 1/25‘7 — [0 X ~(—/G/i7_<//:f/

e ——— T ——r
w____,....---'—- r T
75. Write the first three terms of the binomial expansion, expressing the result in simplified form.
]
x+5 /
x+8) @5/LVA»\J_ CafC~ (Q-A'/\)

The first three terms of the binomial expansion are
(Simplify your answer.)

ca)/y‘* o 694@%7 g < &/"/-

ID: 8.5.31

6/‘)(/)% (Wx)/f/% () ) =
(] S

e
/§<>Li3°)( ~+ 37 %)
’ /6 N C b
//WJL /;4/5 ”C;/F:LV*,/ C’H :
/«r )

//14(% ///5 }7(/- Coler
__G/11/2019, 7:44 AM
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